4x8mm Screw
. 4x20mm Screw
o M2.6x8mm Screw

Panel Mount\

Bracket

Panel
(3mm Max Thickness)

EVA Seal T=1 .5mm@
=

Cutout dimension is 8.02"(203.9mm) by 4.95"(125.9mm).

8.027

[203.9]

4.956
[125.9]

Thickness of panel cannot exceed 3mm.

Step 2: Place the monitor into the panel cutout.

Step 3: Install the two brackets.

Place EVA Seal on the

back of monitor

2X M2.6x5mm Screw
Magnified View to the right:

Remove 2X M2.6x5mm screws

before installing bracket

Step 1: Create panel cut out, remove two M2.6x5mm screws and place EVA seal

Step 4: Tighten the M4x8mm & M2.6x8mm screws
to secure the bracket and tighten the longer
M4x20mm screws to secure the monitor againtst the
panel.

.023
T 10.6]

|
023 ]
[0.6]




